H & 0l & AHS B Ml A

AR =
M N O EDIME HOIEX
SRl AIEHEE 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ay ! 1,711,741 1,499,194 212,547
AN 2 =0l HOlEX 932,878 637,465 295,413
ANEHAE 29 682,878 587,465 95,413
oy N2 445,180 348,893 96,287
202 04| 1,440 1,753 A313
01 2K 1,440 1,753 A313
OS2 &40
60,0002 1 *43] 240
OXIXtAl #iIXI0F O]
60,0003 x4 & +53] 1,200
301 EtE N = 443,740 347,140 96,600
07 S8 -0 - 2243 425,470 328,870 96,600
ool Jlz=g 400,000 69 122 331,200
o0y o= 400, 0002 69 <22 55,200
OOl BloEA g
20,0002 x69E *23| 122 33,120
oty g3l 25,0002 * 11923 5,950
11 #AIAMHIXIZ S 1,710 1,710 0
ONHEZF #Al S BAT 24
11,0002 %30 *43] 1,320
OAZDF HOIL S BAT 24
13,0002 * 102 +32 390
14 IIEt2 83 16,560 16,560 0
O01E Sl 20,0002 x69H 123 16,560
KIS SSAL (FFRIZ 0101 At) 180,000 180,000 0
201 er=23y| 103,580 161,900 58,320
01 AtR2t2|HI 81,080 91,900 210,820
Olle AT MFJ| XA XA 20,000
RS-
360,000& x54& 19,440
—A2F 7Y S 56,000& *102] 560
Otisgdga X203 29 S 5,080
—Z2 )8 M=l
30,0003 x25 2 #52 3,750
—E2=2 & S 665,000 23] 1,330
OMYDIZREH Xie A (FE M8 2ED]) 20,000
—F=HE LE IS
360,000 54! 19,440
—22F 7Y S 56,000& x102] 560
OFCXNXIHE =28 23 20,000
— 2 28 IAE
40,0003 x242|* 12& 11,520
— T2 28 25 7Y
500,000 %102 5,000




SH: Mo
M N O EDIME HOIEX
SRl AIEHEE 29 (SH9 H2)
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
—E92 9 428 7Y =
348,0002 103! 3,480
OE4st 02 =28 MY 3,000
~E92 U 408 79 5
300,000& *103 3,000
OX0IZECE BS=X "HET HOICH 1,000
—840 9 ADE 79 S
50,0002 *203] 1,000
O =XNUHE Sexte NJAAY
300,000 x4« 10 12,000
03 At2gH] 22,500 70,000 A47,500
OAMS Kelol MEH ME 2208 23
7,500,000& *13l 7,500
ONMY EHHAEY
15,000,000& %13l 15,000
206 =4l 5,000 5,000
01 =l 5,000 5,000
OF=Ed B55X "gae Zoitt"
250,000& *203] 5,000
301 LetENEZ 4,920 1,100 3,820
14 JIEt2 43 4,920 1,100 3,820
Oot2gEs T2 29 S 4,920
—Z27]3 2Al=
30,0003 x2A| 2t+603] 3,600
— K SALRL =&
11,0003 x2H +603] 1,320
401 AIEHIZL 28I 66,500 17,000 49,500
01 Al&HI 66,500 17,000 49,500
OE4d3t Ol =48 At 17,000
—E43 0t =4 =S
17,000,000& * 14! 17,000
Lclsul WIH0IH
1,475,000 *207H 2~ 29,500
OME =8 HE A 20,000
—38 ¥ B M= 2el
2,000,000&*103! 20,000
FUEHMA 2 2,000 2,000 0
301 LEBEF 2,000 2,000
11 HARHIKIE S 2,000 2,000
O=CENUA BEZHED| &I
20,0003 x50 *23] 2,000
XX & dE 22 55,698 56,572 AB74
201 Let23| 31,800 31,800 0
01 ArR22ltl 31,800 31,800 0
O=FCIXXIHEH Let=2H|
150,000& x 122 1,800




M Mo
HMu: N O FOIME HAUEX
el AEGEE 29 (SH9 H2)
2 - IE
SA - B - SA(SH) - MRA - BAS ol &t e HIDS
O=2AXIAH 22=+=g
50,0002 x50+ 122 30,000
301 EtE2 NS 23,898 24,772 N\B74
11 #AIAHIXIZ S 2,000 2,000 0
OFQINAILYS S MFX A8t
40,0002 x50 2,000
14 JIEt2 8= 21,898 22,772 A874
OF2XXIa NHASAK &8 K=
11,0002 x2E* 102+ 122 2,640
O=2AXe =73 AIRE =& X3
10,0302 «8Al 2Hx20& x 123 19,258
MR 250,000 50,000 200,000
HEEH LAY 250,000 50,000 200,000
401 AIZHIX 20HH 250,000 50,000 200,000
01 AlZ8| 250,000 50,000 200,000
ONBI FOIZH 212 DIRIGHA
10,000,000 %53] 50,000
OMH L=XIGIRE Sa=0ZA
15,000,000 *10H 2~ 15,000
OAXH EUI0E BUHTAI
18,000,000 * 100 A& 18,000
OMH H20t2 Bi=2 EXISA
18,000,000 * 104 2 18,000
ONg EHuits == ZBISAH
18,000,000 *10H 2~ 18,000
OAXH SU0tE ZHXl ZHISAH
15,000,000 * 10 2 15,000
OMYH =HE0tS =2 ZHISA
30,000,000 *1IH 2 30,000
OKNg JIS0tS =2 EBISAH
21,000,000 * 100 2 21,000
OANH =2l sZEISA
30,000,000 *1IH 2 30,000
OAMH HIZ0IS ofdd 2k X
5,000,000 * 104 2 5,000
ONE AX0IE 52 ZESA
10,000,000 *10H 2~ 10,000
OANH B2E HEFAIS
2,000,000 * 101 £ 20,000
sgoe= 574,707 654,707 80,000
sgoletxrd 2 OHE 574,707 654,707 80,000
SINPEE S A2 A (FUE A 574,707 654,707 80,000
401 AIZHIZ SO 574,707 654,707 80,000
01 Al&H| 574,707 654,707 80,000
Od&lts o2 ZF SA
20,000,000 *14] 20,000
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M =oJ|UpE
ol sEI1gEd & OO EEREE
= - -i[l_j
SN - BB SR(BIH) - NISAY - BES O] ot Lo RS2

0l &y

20,000,00024 14}
OBUOIS 92 L2t X BA

15,000,00024%14]
OYA0lE 242 8 L HEEY

20,000,000 *14]

15,000,000 * 14
OZE6e0IS A2 HMEXIE HE HX A
& 15,000,000 * 14!

10,000,000 x 14!
20,000,000& * 14!

15,000,000 * 14!
Oti=10ts sUl et =2 Z& ZA

20,000,000 x 14!
Og=20l2 OHIE MYSd=z A 2=+ 3

At 15,000,000& * 14!
[e]]

20,000,000& *14{
ORZ0t0te AdEE MY 012y 12t &S
At 20,000,000 x14!

20,000,000& * 14!

AH(EETE| 61
) 20,000,000& *14]

O
0
Ja
=)
1o
O
HU
HI
e
He
HeI
0
0K

15,000,000& * 14
O2&slls 2302 E=8 EHl SA

15,000,000 * 14
OutEOE o2 ¥ =22 FHl A

15,000,000 & * 14!

20,000,000 x14!

OST0IS o2 =T BA
20,000, 00024 14]
OBIEOIS o1 OLAR ZX BAl
20,000,00024+14]
OADI0IE THe 2 SHEF BA
20,000, 000%4+14!
OYUR0IS A =T TF L 012YD 24

3 20,000,000 %14!
OPNOIS S22 EF TA L 242 &
A

& SAt 20,000,000& *14]

20,000

15,000

20,000

20,000

15,000

15,000

10,000

20,000

15,000

20,000

15,000
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20,000

20,000

20,000
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15,000
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20,000

20,000

20,000
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AR =
M Soll|uinE
el selletad 2O (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OLENE &2 B A
20,000,000& » 14 20,000
OHS0t= Bi+=2 JHIl SAt
15,000,000 * 14! 15,000
O2d0t=S & AU a&d £X
14,707,000 * 14| 14,707
O=Sits 22 SA
15,000,000& * 14 15,000
OF2tE SE2E SA
20,000,000 *14! 20,000
O3tE0tS =2 &l £ E2(s2) W&
SA 20,000,000 *14{ 20,000
Osdllis 8+ SIS
20,000,000& » 14 20,000
HE2HIAHI(M ) 204,156 207,022 N2,866
elgE3H 87,502 82,856 4,646
elIg =3 87,502 82,856 4,646
101 @124H| 87,502 82,856 4,646
01 &= 87,502 82,856 4,646
OAIZIRIRR4E
11,9502+ 192 +30A| 2+ 123 81,738
OAlZAZ2+E(M=2HIY)
96,0503 x 18 »60! 5,764
Jl=23sl 116,654 124,166 AT7,512
JI23Hl 116,654 124,166 AT7,512
201 =3 49,914 57,386 AT 472
01 At22t2l] 24,339 28,975 AN4,636
OAMRES 7Y 30,0002 x 19 *43] 2,280
O=AIEN F
25,0002 x102r A% 123 3,000
O=AMII EH § 7E
250,000 x2CH*43] 2,000
OZelZel &Y s 7Y
330,000 x2CH*3H 1,980
O=API =28y, =&KX
362,200 %53 1,761
O&=)| dEx 30,0008 *3CH* 12 1,080
osltl ez 25,0002 =20 =122 600
OANHEEE &9 M=
100,000& %72 700
Oge=d S20AHI
9,000 x 19262 x 12 10,260
oaxl2s 7¢ 56,500 * 128 678
02 s3=gHl 25,575 28,411 2,836
OXIINEZ 1,150,000& «12& 13,800
Odot=EAEE 100,000& «12& 1,200




AR =
M BHSHAYI(M O
Chel: J1=2 &l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ostes 50,000& * 122 600
OoR#EK3 500,000 * 12 6,000
OAIE2ZBI= X 25,000~ 128 300
O&Extg A2H|
115,200 =2CH* 122 2,765
OXNSIAl & 2K
10,0002 %12 110
OZsitg =d7 bl
200,000 x2CH*23] 800
202 04| 54,000 54,000
02 XN 54,000 54,000
OZH04H| 225,000 x20E «12& 54,000
203 HR=H] 12,740 12,780 A0
01 J|2=2gdR=a] 7,700 7,700 0
OokNe 7,700,000 *1H 7,700
02 3t RF&| 840 880 A40
OZ IR =8| 840,000& 12 840
M FAZSHIFII 4,200 4,200 0
OFAMEZE =
350,000 * 122 4,200




